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Question 1- Vijay can do a work in 18 days. Vijay and Ram can do the
same work 1n 12 days. Vijay worked alone for few days and the remaining

work done by Ram in 30 days. How many days did Vijay worked.

T4 |- fos s ohﬁ ST TehdT &l T 3T U9 38T i ahl 12 T
T oL Hehd | Tt = e ol o 1T 3fehct s TR 3T 319 hTH T ZRT 30

el | o o forsT = e faet e i ferarm? CA—3 days
B. 5 days
C. 6 days
D. 8 days
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Question 2- The cost price of a book and a pen together 1s Rs. 920. If the

%,D\ book costs 30% more than the pen, then find the cost price of the book.
307_': 2 | W 2- U I AN Ueh SheTH 31 el 3hd Hed 920 T4 &) Al T&deh shi hiAd
/ hH | 30% AT &, 1 T&eh shl 36T Hed T 15|

P T>*‘37|0+l3

B=lof3 5 A.Rs 420
3 7 3= IR \»B.;I;S 520
e | = T C.Rs 340

\ 3= Hox (3 D.Rs 440
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Q/P’k& 1 ears. Find the principal.

2 s 2 e
g 3 Ueh TS emafsr 2 9wt & 3000 7R 5 W § 4500 B SAA} 21 $
qdT <7a| MOU,\JFC\MCAK(’T)
8 g D Fom_lo A RS 1500
% D}j@ B Rs 2000
— e =R ¢ Rrs 1800
39~ % (Seo ~  D. Rs 1600
\%{D%SOG M“
¥ 2 S0 Tlooo( @) )
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T 4- @\ 6 0 T ThalG
SDISEIGENSPES RIS %&qu gIdr 3l %m%
R= o P 8 Noos = F Hooo o \/pr? Rs 6305
1 )0 o8 s B. Rs 5505
= 51@ @g 26 1 |IR61= |R61XS C. Rs4505
RS “l_’ YO N) =3G D. Rs 2522
= e e
P cr N6
Ny
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Question 5- A person sells and article at Rs 18000 and earns a profit of
20%. Find the cost price of article.

S?v%\&@q% 5- Ueh Sich 9% sl 18000 TFA % I 20% T ATH JfSIel FHLT 2
ST 31 363 HeH 1A shifSTY)

IQO'/ o :Tr |&OOQ

_K. Rs 15,000
°/b: 9 e B. Rs 12,000
o [Se C. Rs 14,000
Oo
0 All%oxl% D. Rs 13,000
tT‘S,OoO
e e e
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Question 6- A student rides on a bicycle at 5 km/hr and reaches his school 6
minute late. The next day he increased his speed to 9 km/hr and reached

school 6 min early. Find the distance between his house and the school.

\%@Iﬂ@ﬁﬁwsl%d ATT & ST I &6 6|H—|¢éﬁﬁ
gl &l T so o7u foreft/ereT fieh sreT of

U TTT| 38k B R Thed o STl ohl T iR

| TN 2 A. 2km
m B 2.25km
AP AA G

D. 3.55 km
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/\Q/ Questlon 7- It X and Y are the two digit of a number 747 such that the
ﬁ number is completely divisible by 80, then find the value of X+Y?

([Nl @Y

It TTE ToIATST &, 1 X+Y 31 | J1d shifsra|

S ; e
/N TR0
. S

& ® N S e
2 (B

E:‘To D. 1
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Question 8 A,B and C can complete a work in 20, 24 and 30 days
respectively. All three of them starts together but after 4 days B leaves
the job in how many days the total work will be completed? 2

99 8 A, B 37X C Ush w1 SHEST: 20 X 30 foa1 & 900 ot Eehdl €1 A
ofiI1 Uk |1 M| Y& hLd & o (b4 fodl o o1a B ¥6TH SIS ol © dl el
ohIH fehe ot o g BT

AT 10
B. 12

S

D. 18
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Question 9- 32% of a number exceeds 17% of the same number by

240.What 1s the value of the number?

T 9- Ush G G‘@T 240 3T g| 39 G&AT T AT 1
?

g
157 = Quo-
1= %“ G A. 1000
007 < [6X[aa B. 1200
= (6 C. 1600
— D. 1400
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Question 10- Find the cost price of an article if the profit i1s Rs 360
and the profit percent 1s 20%.

B 10-211%81‘1@?% S ATH S @ 1 ek <& oAl 59

ISR
Y07 = ¥ 360 A. Rs 200
=X B. Rs400
\607‘:_ Qo C. Rs 300
=X oo D. Rs589 [Qon

—_—
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Question 11- Two article sold at same price. The first 1s sold at 10% profit

and the other 1s sold at 10% loss. Find the overall profit percent or loss

percent.
T 11- 21 &0 GHM Hod YL = 751 98 sl 10% ATH T S=1 ST & S

0K<m ETI O ST STIT €1 el ATH =T AT 8T ST Hel hifsi|
L°/ — —<_5_(2_) A. 1% profit

[e%

3 B1% loss
=
( |OO) C. 2% profit
= \_(aL D.2% loss

—
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Question 12+In what ratio a shopkeeper mixes two varieties of the same article
costing Rs 60 per kg and Rs 65 per kg respectively so that on selling the mixture

at Rs 68.20 his gain 1 10%
& <hT SHAST: 60 T9T Ui fehadl 3T 65 T4 Ifd fohal shl

54 12- T g ‘
EREze) Hﬁ%’rﬁw 68.20 F9 1 S5 T 3H 10% Al
S

e E? C A 3:2

/ MJ@% B. 34

E2335
D. 4:5
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Question 13- Pipe P and Q can fill a tank 1n 8 hours and 12 hours. If the pipes
are opened at 9 AM and 11 AM respectively. Then at what time tank completely
full.

T 13- 9139 P 3R Q U okl ol 8 ¥ X 12 Eid H W Tkl 8| AlQ UTSYT SHAST: Y8
0 SISt A 11 oIS @it SITd &) 1 fohe G5 ok Tt a8 | TR

HO“W\Q Wk A. 1:36 PM
B. 2:36 AM

C. 1:36 AM
| D ART N M\Y
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Question 14- In an election two candidates participated. If 20% of the total votes

did not cast there votes. The winner get 60% of the total votes and he wins

by6400 votes. Find the total number of votes.
T 14- Toh AT H &1 SIS | forT| Al el HAl H H 20% Hel T8l I dl /e

| foISIdT skl et HAl ST 60% AT & R I8 6400 Wl & a1 81 A1ei hl el
HAT T4 iy A. 20.000

B. 30,000
C. 40,000
D. 50,000
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